

۱۲ پسر تبریز

تکلیف ۲۰

روز دهم قیام

۱۴ $\lim_{n \rightarrow \infty} \frac{2n-5}{n^2+an+b} = -\infty \Rightarrow \frac{2}{n^2+an+b} = -\infty$

5 Oct. 2024

رسع الناس

مخرج $= 0^+ \in \mathbb{R}$ دارا یه ضاعف $\in \mathbb{R}$ $(n-2)^2 \in \mathbb{R}$

$n^2 + 4 - 4n \Rightarrow a = -4 \quad b = 4 \Rightarrow a+b = 4-4 = 0$

۱۵ $\lim_{n \rightarrow \infty} \frac{n}{n^2+an+b} = +\infty \Rightarrow \frac{\sqrt[3]{n}}{\sqrt[3]{n^2+an+b}} = +\infty \Rightarrow$ مخرج $= 0^+$
دارا یه ضاعف $\in \mathbb{R}$ $n^2 + \sqrt[3]{n} - \sqrt[3]{4}n = (n - \sqrt[3]{4})^2 \in \mathbb{R}$
 $a = -\sqrt[3]{4}$
 $b = \sqrt[3]{4}$ $\rightarrow \left[\frac{b}{a} \right] = \left[\frac{\sqrt[3]{4}}{-\sqrt[3]{4}} \right] = -1$

۱۶ $\lim_{n \rightarrow \infty} \frac{[-2n]+a}{\sqrt[3]{n^2+an+b}} = -\infty \rightarrow \left[-\frac{1}{\sqrt[3]{n}} \right] + a = -1 + a$
مخرج $a > \frac{1}{\sqrt[3]{n}} \rightarrow \left| \frac{\sqrt[3]{n}}{n} \times \frac{1}{\sqrt[3]{n}} + a \right| + a = \frac{1}{\sqrt[3]{n}} + 2a$
مخرج $a < \frac{1}{\sqrt[3]{n}} \rightarrow \left| \frac{\sqrt[3]{n}}{n} \times \frac{1}{\sqrt[3]{n}} + a \right| + a = -\frac{1}{\sqrt[3]{n}}$

$\lim_{n \rightarrow \infty} \frac{-1+a}{\frac{1}{\sqrt[3]{n}} + 2a} = -\infty \Rightarrow \frac{1}{\sqrt[3]{n}} = 2a \Rightarrow a = \frac{1}{2\sqrt[3]{n}} \Rightarrow \left[\frac{1}{2} \right]$ زیرا یه است $- \infty$ است.

۱۷ $\lim_{n \rightarrow \infty} \frac{14n \left[-\frac{2}{n} \right]}{2n^2 + \left[\frac{n}{n^2} \right]} \rightarrow$
از معبره قبل نزدیک $\frac{1}{n^2} \sim n^2$ و $\frac{1}{n^2} \Rightarrow$ معنوی و $\frac{1}{n^2} \Rightarrow$ معنوی و $\frac{1}{n^2} \Rightarrow$ معنوی
 $14x - \frac{1}{\sqrt[3]{n}} = \left[\frac{-1}{\sqrt[3]{n}} \right]$
 $\frac{14x - \frac{1}{\sqrt[3]{n}}}{2n^2 + \left[\frac{n}{n^2} \right]} = \frac{-1 - \left[-1^+ \right]}{-12 + \left[12^- \right]} = \frac{-1 - (-1)}{-12 + 11} = \frac{0}{-1} = 0$

۱۸ $\lim_{n \rightarrow \infty} \frac{n^2-4}{n^3-[n^2]} = \frac{\infty-\infty}{\infty-\infty} = \frac{0}{0} \xrightarrow{\text{Hop}} \frac{2n}{3n^2} = \frac{2}{3n} = 0$

روز دهم شکی

$$\lim_{n \rightarrow \infty} \frac{2^n + \log n + 1}{2^n + 4\sqrt{n}} \xrightarrow{n=1} \frac{2+0+1}{2+4} = \frac{3}{6} = \frac{1}{2}$$

$$\lim_{n \rightarrow 0^+} \frac{\sqrt{1+\sin 2n} - \sqrt{1-\sin 2n}}{\sqrt{1-\cos 2n}} \times \frac{\sqrt{1+\sin 2n} + \sqrt{1-\sin 2n}}{\sqrt{1+\sin 2n} + \sqrt{1-\sin 2n}} = \frac{1-\sin 2n}{1-\cos 2n}$$

$$\textcircled{-1} = -1 \times \frac{\frac{n}{\sin \frac{n}{2}}}{\frac{n}{\sin \frac{n}{2}}} = \frac{1-\sin 2n}{1-\cos 2n}$$

$$\lim_{n \rightarrow 0} \frac{K + \cos(\sqrt{a} x)}{K x^2} = \frac{K+1}{0} = \infty \rightarrow 0 = \text{undefined!} \textcircled{1}$$

$$* \cos \square - 1 = -2 \sin^2 \frac{\square}{2} \rightarrow + \frac{2 \sin^2 \frac{\square}{2}}{\frac{\square}{2}} = 2 \left(\frac{\sin \frac{\square}{2}}{\frac{\square}{2}} \right) \textcircled{K=-1}$$

$$\frac{a}{K} = \boxed{-4} \quad a = 4 \quad \frac{a}{2} = 2 \quad \lim_{x \rightarrow 0} \frac{a}{x} \quad \frac{a}{2} = 2$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt{2n-4a} + \sqrt{2n} - \sqrt{2a}}{\sqrt{2n-4a}} = \frac{0}{0} \rightarrow \frac{(\sqrt{2n} - \sqrt{2a}) + \sqrt{2n-4a}}{\sqrt{2n-4a}}$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt{2n} - \sqrt{2a}}{\sqrt{2n-4a}} = \frac{1}{\sqrt{2a}}$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt{2n} - \sqrt{2a}}{\sqrt{2n-4a}} = \frac{1}{\sqrt{2a}}$$

$$\lim_{n \rightarrow -1} \frac{1 - K[n]}{(n-1)(n+1)} = \frac{1 - -K}{n^2 - 1} = \frac{1+K}{n^2 - 1} = -\infty$$

$$\cos K\pi > 0 \leftarrow K\pi \in (0, \pi) \leftarrow K \in (-1, 1) \leftarrow 1 + K > 0$$

$$\textcircled{2}$$